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independent variable, 8}

indeterminate coefficient, FREHR B

indeterminate equation, z(ﬁjiﬂ'
® .

indeterminate form, FRERE

indeterminate problem, <)z K] #§

index, 98 -

index law, }BB EMHR

induction, B

inequality, FR&

infinite dimension, $EfEX7&

infinite series, fEFRERE

infinity, $ERA

inspection, FRELH:

integer, ¥

integral calculus, 348

Tntegral expression, sk

interchange, & #&

interest, #J &

intermediate, Hijijdy

interpolation; ¥ A#:
intersection, 3¢ %
inverse operation, %4
inverse proportion, J§ H.H
inverse ratio, F{ H:
inversion, & @
involution, H3j¥EH:
irrational equation, §Es 7R
irrational expression, M
irrational quantity, fEl &
irrational root, §EBAR:

L

J
join, B _

known number, B,4n#
known quantity, B i

L

last term, YA N

law, Ef#

law of formation, )& &R/

least, g/ 8

least common denominator, f§/h%
2

least common multiple, /& fi&#

length, JHE

less than, R

letter, L5

like power, FX

like term, FfiJEE

limit, iR

limiting value, HpFRAE

line, EiR

linear equation, EiRHER

literal coefficient, 3¢ SRR

literal equation, 2 2 AR

logarithm, %%

logarithm series, ¥ §¥E 8¢

| lower base, T
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lowest common denominator. EfE I negative, §

ag i

lowest common multiple, §{%2 %

5
lowest term, ¥ {&
location of the roots, #i Z{lf

magnitude, KA, &

mantissa, {8

mathematical induction, ¥ 4RBFHAH:
mathematics, ¥

maximum, A

mean, HUR

measure, &

members of an equation, 7#j izt 2 &
method of difference, 3£ H:
method of divisors, [ ;2 8:
middle term, thJrZH
minimum, £/

minor, MFFR

minuend, &8

minus, J§

miscellaneous case, ¥

mixed expression, 43R
mixed surd, A& RF4d
wodulus, ¥

monomial expression, —¥& 3k
mulvtinomial expression, ZH R
multiple, 4% 8

multiplicand, FJeRg
multiplication, Zeg:
multiplier, 3E#

multiply, 3§

Napier, i # K

Napierian an logarithm, Mamae
natural logarithm, ST 1
naught, %

necessary and suflicient condition.

HEHFERMEE '

negative index, ﬁfﬁu
negative quantity, & &
negative root, Eij
negative sign, & ¥k

neglect, R MARR"

Newton’s Method, 4- __E_E&'
next, &—

nine, Jg,

notation, SE8E

notion, {4

nth power, n -#(3

nth root, n KA

nth root of unity, —Z n 3R
number, #
numerator, 23§

numerical coefficient, i % ¥
numerical equation, R

nwunerical value, 8l

0

obtain, k% -

odd, ZF 8%

odds, g8z

one, —

operation, i &

opposite, ¥g)T

order, &

origin, JFEE

original equation, JE /7R
oscillating series, 3§ H# St

P

parabola, ik

parallel, 47

part, #{Z

partial fraction, ¥R{3 3} 8%
partial product, ¥R{z 7
partial quotient, #{7
particular, H3%EaY, 55 ith
perfect cube, 522 J7
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perfect square, 5227k

periodie continued fraction, JHHE
i

permutation, Ji{#

perpendicular, &

perpetual annuity, A fES

piles of shot and shells, {3fl

place, fir

plane, 2]

plus, i

point, B4

polynomial, £1EH &

position, fif {F

positive, 1E

positive integer, JF 38

positive quantity, i &

positive root, JF4}

positive sign, 1F§§

power, &R, FE

principal, A

principal diagonal, MR -

principle, JRHI)

probability, =% &8

problem, [RE

procedure, &/

process, #H

product,

progression, ¥

proof, (%84

proper fraction, JZ+8

property, #¢tt

proportion, H.H

proportional, H.f§#

proposition, frk{

pure quadratic ecuation, =K%
o

Pyl‘amid. ﬁ*ﬁ

Q

quadrant, §FE
quadratic equation, _Kﬁﬁ'ﬁ
quadratio form, =X

quadratic surd, =2 RFH
quantity, 8

quartic, PgK A FER
quotient, B

‘»
radical, i 8
radical sign, ¥R
radius, 4274
rate of interest, F|Z&
ratio, J{,
rational expression, A%
rational fraction, /53 2} 8
rational integral expression, A ¥

_
rationalization, 453 1k
rationalizing factor, 45 1k B 8¢
rational quantity, A &
ratio of greater inequality, {§H;
ratio of less inequ‘a.lity, Fh
real quantity, &
rearrangement, ¥%|, EH
reciprocal equation, H 8 AR
reciprocals, f|#{
rectangle, 4
recurring decimal, §&#% /8
recurring series, fEEEH K
reduce, JEMy, 1L
relation between roots and coeffi-
cient, FRELEY Wz BAER

remainder, ffk
remainder theorem, ffza
remove, Mk, Bk
replace, 4%, #ftk
represent, 4% . 1%
resolution, ZfZye
respective, &}
restriction, FR&l
result, g5
reversion of series, gm;zm;&
right angle, B
root, # 5. W
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rule, #:Hi)
rule of sign, KF¥RE:HI

satisfly, ¥ 2, #4

scale, Rt MBI

scale of notation, ¢ 83k
scale of relation, #Figgas
second, ¥, #

secondary diagonal, Zi|$ g
second power, T2

second root, —ZH

sense, [f]

series, 5k B

seven, -

side of an equation, F X2k
sign, 759k ,

significant figure, ¥
sign of continuation, HiHFHE
sign of deduction, HEZRAFER
sign of equality, 225k

sign of inequality, R4
sign of identity, T§ 2% ##
similar, ¥§{]

simple equation, —%& a5
simple expression, —ZRz
simple interest, HH#]

simple proportion, L.
simple ratio, Bl

simplest form, g fifjs%

simple surd, BREEH
simplifieation, i
simultaneous equation, Rfiaz 4R
single fraction, Bz} 8

single term, B

six, X

emall, /h

solution, 2%, B

square, Tk

square root. il

standard form, R
statement, [

Sturm function, g8

Sturm’s Theorem and Method, shiF
SEEE K Wik

style, #4 =

subduplicate ratio, 4F4ikH;

substitution, 4§A i

subtraction, Jgi:

subtractive, ¥y

successive convergents, 5‘@*5&& A

successive orders of difference, %2
SR

sufficient condition, & HE4

suffix, 78

sum, [

summation of series, RBIARFIH:

supposition, {RE

surd, R

symbol, SESE

symbolical algebra, JE#R4C %

symmetrical equation, 35§84 254

symmetrical function, S8 k¥

symmetry, #@X

synthetic division, §5:4-Bkik

T

table, 3

table of logarithm, $#38

tabular difference, 3838

tabular logarithm, 33 &

ten, |

tens’ place, i

term, ¥

terminating continued fraction, #
(36038

test, FE

th’eorem, s

theorem of equations, KX ik

theorem of indices, #®#4

third, =

third power, =X

third root, =Rl

thousand, F
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thousands’ place, it

three, =

total, A8, M8 d

time, ff£

to vary,

to vary directly, n-:!

to vary inversely, 788

to vary jointly, 4%t

transformation, gk b

transformation of equations, 73;&*
28R

transposition, R

trial divisor, B[R ¥

triangle, =3

trinomial expression, =R

triplicate ratio, = ey

true, 43

twice, — &

two, = -

1)

unalter, K5t

unchanged, <&

undetermined coefficient, =R &
unequal, &

unit, B

units’ place, {1

unity’ ha

unknown quantity, sk =

unlike, 7R [ AH

unlike surds, < |a AR FHR
unlike terms, KRR
unlimited, §EfR

unreal, AR

upper base, _EJ&

v
value, i
vanishing fraction, %28t
variable, $#
variation, 8§y
verification, 58§
vertical line, T AR

vertice, T B4
vinculum, ¥EER
w
whole, 522
whole number, 5228
Y
y&rd, '
year, 4
z
zero, B¢
zero coefficient, TR%K
zero factor, 3¢ B B
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Alpha.
Beta.
Gamma.
Delta.
Epsilon.
Zeta.
Eta.
Theta.
Iota.
Kapya.
Lambda.
Mu.
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" Nu.

Xi.
Omiikron,
Pi.

Rho.
Sigma.
Tau. .
Upsilon.
Phi.
Chi.

Psi.
Omega,



